Core Financial

Appendix D


Appendix D:  Financial Summary Calculations
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COTS

 Application 

Cross Service 

Total Present Value Costs

A

1,126,027

$          

 

959,443

$         

 

952,873

$        

 

Investment Costs

a1

261,610

$                    

 

148,003

$                

 

123,490

$              

 

O&S Costs

a2

864,417

$                    

 

811,440

$                

 

829,382

$              

 

Total Present Value Benefits

B

-

$                         

 

317,072

$         

 

299,592

$        

 

Inv Cost Avoidance

b1

-

$                                

 

261,610

$                

 

261,610

$              

 

System Savings

b2

-

$                                

 

52,977

$                  

 

35,034

$                

 

Overtime Cost Avoidance

b3

-

$                                

 

2,485

$                    

 

2,947

$                  

 

Net Present Value

A-B

1,126,027

$          

 

642,371

$         

 

653,281

$        

 

Benefit Cost Ratio

B/a1

N/A

2.14

2.43

Return on Investment

(B/a1)-1

N/A

114%

143%

Payback Period (years)

*

N/A

1.56

1.37

*  The Payback period is based on the cost and benefit streams


The following table explains the calculations used to determine the financial metrics.

Net Present Value:  This is the present value of the costs minus the present value of the benefits.

Benefit Cost Ratio:  This is derived by dividing the present value benefits by the present value investment costs 

Return on Investment:  This is derived by dividing the present value benefits by the present value investment costs and subtracting one.  This number represents the true return on the investment.  For example, for every dollar invested in the COTS alternative, a $1.14 gain is realized (in addition to the dollar invested).  If the one is not subtracted this would illustrate that for every dollar invested that dollar is return in addition to another $1.14 or an ROI of $2.14.

Payback Period:  This is derived by calculating the cumulative benefit as presented in the figure below.  The cumulative benefits are based on the cost investment and benefit streams.
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00

01

02

03

04

05

06

07

08

09

Costs

10,854

$               

 

33,007

$           

 

53,879

$          

 

36,089

$

 

1,496

$    

 

-

$            

 

-

$            

 

11,399

$        

 

1,279

$    

 

-

$             

 

Benefit

-

$                         

 

52,249

$           

 

70,712

$          

 

82,705

$

 

17,757

$  

 

16,859

$  

 

9,972

$    

 

9,589

$          

 

48,364

$  

 

8,865

$     

 

Net Benefit



(10,854)

$                     

 

19,242

$                 

 

16,832

$               

 

46,617

$    

 

16,261

$      

 

16,859

$      

 

9,972

$        

 

(1,810)

$              

 

49,643

$      

 

8,865

$         

 

Cummulative Benefit

(10,854)

$              

 

8,387

$             

 

25,220

$          

 

71,836

$

 

88,098

$  

 

104,956

$

 

114,928

$

 

113,118

$      

 

162,761

$

 

171,626

$ 

 


The payback period is realized when the cumulative benefit becomes positive.  This occurs after the second (FY 01) year.  The exact month is calculated as follows:
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1,603

$           

 

Month of Payback

6.77

$             

 

Month converted to a fraction

0.56

Year of Payback

1

Total Payback Period

1.56
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